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al = 0.85=( 1~ 3,000V +— 100) =1.16

a2 =1.00+ (1~ 2.000V + 100) =1.22

al, o20EKEZERLAEELES, o = 1.22

m=a X SL = 29.3

PLEL D, BEESWHE W = 29 3(N/mb) & LET, m = 29, 3(N/mdf)
Kz AL REW/C) '

29,3 = -15.1 + 26.1 X C/WL Y W/C = 58, 783 (%) W/C=58.5(%)
BAL7 N & (W) L FEPVRISE L Y = 153 (kg/nf)
Bf7 ¥ A & (C)

C=W -+ WC X 100 = 153 = 58.5 X 100 = 262 (kg/nt) = 262 (kg/nf)

Ve = C pc= 262 +« 3.04 = 86(Q/n) Vo= 86(Q/nf)
B NS EFEFE (L /nf) LWHEFLNRERE S D = 665(0 /af)
AL E A & (6)

Vg = V XEREES 100 = 665 X 60.5 + 100 = 402(8/nf) Vg=  402{0 /af)

Vgl = Vg X( 40 =( 40 + 35+ 25))= 161{(0/mf) Vgl=  161(0/nf)
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Vg3 = Vg — Vgl = Vg2 = 100(Q/nf) Yg3=  100(0 /nf)
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G2 = Vg2 X pg2 = 141 X 2.62 = 369 (keg/nf) G2= 369 (kg/ )

G3 = Vg3 X pg3 = 100 X 2.62 = 262(kg/nf) G3= 262 (kg/n)
B AR E A& (S)

Vs =2v0)-M58-( W+ Ve + Vg  +Vair)

= 1000 -( 153+ 86+ 402 + 45 )= 314(8L/ni) Vs=  314(LQ /)

S=Vs Xps= 314 X 2.58 = 810(kg/n) S = 810(kg/ )
WA (s/a)

s/a= Vs+{Vs+¥g) X100 = 314 +—( 314 + 402) X100 = 43,9(%) s/a= 43.9(%)
EARTNAIE (AD)

Adl = € X ¥EhIEE<+ 100 = 262 X1.100+100= 2.88(kg/nf) Adl= 2, 88(kg/xt)

Bl53 (kg nf)
b [ERHO|ERFO] K |[HEHO|MEHO | MEHO MEHO BEHMO EEHO | BERAIO B HRIAIG
262 153 810 422 369 262 2.88
AEA R 1 585 % | AKEEEMHL ] % | B MR | 43.9 %
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JAC-E R EE (m)

al = 0.8+ (1~ 3.000V + 100) =1.16

a2 = 1.00+( 1 — 2,000V + 100) =1.22

al. o2 DFREAENE LGRS LET, o = 1.22

m= o X SL= 29.3

PLEX Y, BAWEE M = 29. 3(N/mf) & LET, m= 29.3(N/mdi)
KAz AL b E(W/C)

20.3 = -15.1 + 26.1 X C/WEY W/C = 58.783 (%) W/C= 58.5(%)
(77K 2 (W) HAAEAAAE D W= 156(kg/nf)
Bifrt A hE(C)

C=W = W/C X 100 = 156 + 58.5 X 100 = 267 (kg/nf) C=267(kg/nf)

Ve =C +pc = 267 — 3.04 = 88{0Q/nt) Vo= 88( 0 /uf)
AN XERE (L /) WA ERARE L V= 665(82/nf)
Eliyxiskzozn-4(6)

Vg = V X FERHE 100 = 665 X 60.5 -+ 100 = 402(L /nf) Vo= 402(LR/nf)

Vgl = Vg X( 40 —( 40+ 35+ 25))= 161(L/m) Vgl= 1612 /uf)

Vg2 = Vg X( 36 —( 40+ 35+ 25))= 141(Q/nd) V2=  141{0Q /nf')
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Gl = Vgl X pgl = 161 X 2.62 = 422(kg/nf) Gl= 422 (kg/nt)

G2 = Vg2 X pg2 = 141 X 2.62 = 369 (kg/nf) G2= 369 (kg/nf')

G3 = Vg3 Xpgd= 100 X 2.62 = 262(kg/nl) G3=  262(kg/nt)
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Vs =) )-bERE-( W + Ve + Vg +Vair)
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S=Vs Xps= 309 X 2.58 = 797(kg/nf) S = 797 (kg/nf)
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Adl = € X IR 100 = 267 X1.100+-100= 2. 94(kg/nf) Adl= 2,94 (kg/nf')
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TEMREL (V) EEawangpsred P V= 9.00%

{5 53 (m)
ol = 0.85+( 1 - 3,000V = 100) =1.16
a2 = 1.00+ (1 - 2,000V = 100) =1.22

al., o 20RKREZEHE LFEEE LET, @ = 1.22

m=a X SL = 29.3

PlbEXy, BAEWEm = 29.3(N/mh) & LET, m = 29.3(N/mf)
Ktz A L b ER(H/C)

29,3 = ~16.1 + 26.1 X C/WL Y W/C = 58. 783 (%) W/C= 58.5(%)
BT K & (W) WA FERNRAE L W= 150(kg/nf)
Bifirt A v hE(C)

C=W = W/C X 100 = 150 =+ 58.5 X 100 = 256(kg/nf) ¢ = 256(kg/nf)

Ve =C +pec = 266 ~ 3.04=  84(Q/n) Ve= 84 (0 /nf)
HEH D SAEL /o) EEawanaps Lo e V= 665(0/nf)
AL A 8 (G)

Ve = V XEBESR 100 = 665 X 60.5 + 100 = 402(2/nf) Vg=  402(0/nf)

Vel = Vg X ( 40 =( 40 + 35+ 25)= 161(L/n) Vgl=  161(Q/ni)

Vo2 = Vg X( 35 +( 40+ 35+ 25)= 141{02/nf) Vgo=  141(8 /ut)

Vg3 = Vg — Vgl — Vg2 = 100(Q/nf) Vg3=  100(L /)

Gl = Vgl X pgl = 161 X 2,62 = 422(kg/nf) Gl= 422 (kg/n’)

G2 = Vg2 X pg2 = 141 X 2.62 = 369 (kg/nf) G2= 369 (kg/nl)

63 =Ved Xogd = 100 X 2.62 = 262(kg/nf') G3= 262 (kg/nt)
HALHE A& (S)

Vs =av)-bEFE-( W+ Ve + Vg  +Vair)

= 1000 -( 150 + 84 + 402 + 45 )= 319(L /) Vs=  319(£ /af)

S=Vs Xps = 319 X 2.58 = 823(kg/nf) S = 823(kg/nf)
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s/a= Vs—(Vs+Vg) X100 = 319 =( 319 + 402) X100 = 44. 2 (%) s/a= 44.2 %)
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AdL = € X RIS 100 = 256 X1.100--100= 2,82 (kg/nf') Adl= 2.82(kg/nt)

a3 (kg nf)
wivh | RFEQ | IBIHO sk [FESOEEHE | MEHO HEHO PREHO [ HEHE RO | RO | B

206 150 823 422 369 262) 2,82
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